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KSF 2017 - Ecolier — Levels 3-4

3 point problems (mpoBAnuara 3 povadwy)

Which of the pieces A - E will fit between the above two pieces so the two equalities
are fulfilled?

Moio atrd Ta kouyudTia A - E Ba taipiddel uetagu Twv duo o Trévw TTadA, €101 WOTE o1 dUOo
1I00TNTEG Va €ival OWOTEG;

(A)

(B) H
(D) H

(©)

(E)

2. 1f John looks through the window he can see half of the kangaroos in the park. How
many kangaroos are there in the park?

Av o Navvng BAETTel a1mo TO TTAPEBUPO Ta PICA aTTd TA KAYKOUPO OTO TTAPKO, TTOCO
Kaykoupod €xel GUVOAIKG OTO TTAPKO;

2 2 2
2T 2

(A) 12 (B) 14 (C)16  (D)18  (E)20




3. Two gridded transparent sheets are darkened in some squares, as shown. They are
both slide on top of the board, shown in the middle.

Then the pictures behind the darkened squares cannot be seen. Only one of the
pictures can still be seen, which oneis it?

AUo Siagavr) KOPPATIa XapTIoU €ival oKIGOUEVA JaUpa O€ PEPIKA TETPAYWVA, OTTWG Qaiveral.
Kai Ta dUo ptraivouv Tévw atrd To PJECaio OTTWG QaiveTal oTh IO KATW.

2Tn CUVEéXEId, Ol EIKOVEG TTIoW aTTd Ta oKoUpa TETpAywva dev @aivovtal. Mévo pia atré Tig
€IKOVEG QaiveTal, TTOIa €ival AQuTH;

(D) @ W

4. A picture of footprints was turned upside down. Which footprints are missing?
Mia eikdva a1rd TTaTNUOCIES YUpioe avatroda. MNola ixvn Acittouy;
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5. What number is hidden behind the panda?
Molog apIBPOG ival KPUPPEVOG TTiIoW atTd TV KEQAAL Tou {wou panda,;

10+6=

(A)16 (B)18 (C)20 (D)24  (E)28



6. If the table of the figure, which has been partially covered by a spot of ink, must
show correct sums, what number should go to the box with the question mark?

Edv o mivakag Tou oxAuaTog, o oTToiog £xel KAAUPOEi ae KATToIa PEPN ME AEKE aTTO PEAGVI,
TTPETTEI VA OEigEl CWOTA aBpoicuaTa, TTOI0G APIBPOG AEITTEI OTO KOUTI JE TO £PWTNUATIKS ?.

L1172

(A)10 ()11 (©)12 (D)13 (E)15

7. Dolly accidentally hit the mirror. The mirror is broken into pieces. How many pieces
have exactly four sides?

H Dolly xtUtTnoe Katd AdBog o€ éva KaBpé@Tn. O KaBpépTng £xel oTTAoEl o€ KoUudaTia. MNMoéca
OTTO QUTA Ta KOPMATIO £XOUV aKPIBWG TECOEPEIG TTAEUPEG;

Az (B3 ()4 D)5 (B)6

8. In the figure on the right we see a necklace of six beads. Which one is the same
necklace?

210 O0X£010 OTa BECIA BAETTOUNE Eva TTEPIOEPAIO PE €€ XAVTPEG.ToI0 aTTO TA TTIO KATW €ival TO
idlo TTEPIOEPQIO;

GEw
(A) @ (B) Q (© Q (D) Q (E) Q



4 point problems (mpoBAnuara 4 povadwv)

9. The picture shows the view Ann sees when she looks at the front of her house. The
rear of her house has three windows and no door. What view does Ann see when she
looks at the rear of her house?

H eikova deixvel Tnv dywn 1Tou BAETTEI N Avva 6TaV KOITAZEI TO JTTPOCTIVO HEPOG TOU OTTITIOU
TNG. To TTiow PEPOG Tou OTTITIOU TNG £XEl Tpia TTapdBupa Kal Kauia TépTa. Mola gival n éwn
TTou BAETTElI N Avva 6Tav KOITAZEI aTTo TO TTIoW PEPOG TOU OTTITIOU TNG;
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Which one is true?
Nolo €ival To cwoTo;

(A).:. (B).+.+.:. (C).+.+.:.
(D).+.=. (E).+.=.

11. Balloons are sold in packets of 5, 10 and 25. Marius buys exactly 70 balloons.
What is the smallest number of packets he could buy?

MtraAdvia TTwAouvTal o€ TTakéTa Twv 5, 10 kai 25. O Mdépiog ayopddel 70 pmraAdvia akpIwg.
Molog gival o PIKPOTEPOG APIBPOG TTAKETWYV TTOU PUTTOPEI VO ayopdaoEl;

(A3 (B4 (©)s5 (D)6 (B)7



12. Bob folded a piece of paper. He cut exactly one hole in the paper. Then he
unfolded the piece of paper and saw the result as shown in the picture. How had Bob
folded his piece of paper?

O Bab éxel éva dimmAwpévo koppaT xapTi. EByaAe akpiBwg pia 1putra oto XapTi. MeTd,
&edITTAWOE TO XOPTi KAl €idE TO ATTOTEAETHA, OTTWG PAIVETAI OTNV EIKOVA.

Mwg gixe driTAwpévo TO XapTi 0 Bob;

) CN P N O (o o @

13. There is a tournament at the pool. First 13 children signed up and then another 19
signed up. Six teams with an equal number of members are needed for the
tournament. At least how many more children need to sign up so that the six teams
can be formed?

Y1dapxel éva Toupvoud oTnv moiva. ApxIkd, OnAwoav cuppeTox 13 Taidid Kal 0Tn CUVEXEID
onAwoav cuppeToxn akéua 19 TTaidid. Na 1o Toupvoud aTTaITouvTal £€1 ONAdEG JE i00
ap1Buo TTaidiwy. TouAdyioTov TTOCQ TTEPICCOTEPA TTAISIA TTPETTEI VO ONAWGCOUV GUUMETOXN
£T01 WWOTE VO UTTOPOUV va OXNUATIGTOUV 01 £€1 OAOEG;

A1 B2 ©)3 D4 (B)S

14. Numbers are placed in the cells of the 4 X 4 square shown in the picture.

Mary finds the 2 x 2 square where the sum of the numbers in the four cells is the
largest. What is that sum?

YTrapyouv ToTToBeTnuéVol aplBuoi oTo 4 X 4 TETPAYWVO OTTWG PAiVETAI OTNV EIKOVA.

H Maipn Bpiokel To TETPpAYwVO 2 X 2, GTTOU TO ABPOICHA TWV APIBUWYV €ival TO JEYAAUTEPO.
Molo cival auté 10 dBpoIoHQ;
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(A)11  (B)12 (C)13 (D)14 (E)15



15. David wants to cook 5 dishes on a stove with only 2 burners. The times needed to
cook the 5 dishes are 40 min, 15 min, 35 min, 10 min and 45 min .

What is the shortest time in which he can do it? (He may only remove a dish from the
stove when it is cooked.)

O David 8¢Ael va payeipégel 5 €idn eaynTwy o€ pia ykadiépa pe govo 2 pama. O xpdvog TTou
ATTAITEITAI YIA VO payeipéyel Ta 5 @aynTtd ival 40 AeTrTd, 15 AetrTd, 35 Aetr1d, 10 AeTTTd Kal
45 AetrTd. Molo gival To HIKPOTEPO XPOVIKG dIGCTNA OTO OTToi0 PTTopEl va To Kavel; (Mtopei
va agaipéael To aynTto atrd TN ykaliépa 6tav Ba £xel wnoei)

(A) 60 min (B) 70 min (C) 75 min (D) 80 min (E) 85 min

16. Which number should be written in the circle containing the question mark?
[Molog apIBuGG TTPETTEN va YPAPTET OTOV KUKAO TTOU BPIOKETal TO EPWTNHATIKG ?;
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(A) 9 ()10 (C)11 (D)12  (E)13

5 point problems (mpoBAnuara 5 povadwy)

17. The picture shows a group of building blocks and a plan of the same group. Some
ink has dripped onto the plan. What is the sum of the numbers under the ink blots?

H eikéva deixvel pia opada oIkodouIKWY KUBWV Kal éva ox€dlo KaTowng Tng idiag oudadag.
‘Exel otéel Aiyo peAdvi Tavw oT1o ox£dI0. oio gival To dBpoioua Twv apiBuwyv KATwW o110 TIG
KNAIBES peAaviou;

(A)3 (B)4 ©s @6 B7



18. How long is the train?
Méoo pakpu gival To TPEVO;

340 m

110 m
(A) 55 m (B) 115 m (C) 170 m (D) 220 m (E) 230 m

19. George starts training at five in the afternoon. The journey from his house to the
bus stop takes 5 minutes. The bus journey takes 15 minutes. It takes him 5 minutes to
go from the bus stop to the field. The bus runs every 10 minutes from six in the
morning. At what time at the latest does he have to leave his house to arrive at the
field on time?

O Mwpyog apyicel TNV TTPOTTOVNOT TOU OTIG TTEVTE TO aTTéyeupa. H diadpopr atrd To oTTiTI
TOU PEXPI TN 0TAoN Tou Aew@opeiou dlapkei 5 AeTrtd. H diadpopr pe 1o Aewpopeio dlapkei 15
AeTITG. Tou TTaipvel 5 AeTTTd yia va TTael atro Th oTAon Tou Asw@opeiou oTo yATTEdO. TO
Aew@opeio avayxwpei KABe 10 AeTTTA aTTO TIG £C1 TO TTPWI.

TI wpa TO apyOTEPO TIPETTEI Va QUYEI ATTO TO CTTITI TOU YIO VO PTACEI OTO YATTEDO OTNV WPA

TOU;

(B) (C)

(E)



20. A small zoo has a giraffe, an elephant, a lion and a turtle. Susan wants to plan a
tour where she sees 2 different animals. She does not want to start with the lion. How
many different tours can she plan?

‘Evag pikpdg CwoAoyiIKOS KATTOG £XEl Wi KAPNAOTIAPdaAn, évav eAé@avta, éva Alovtdpi Kal
MIa xeAwva. H Susan BéAel va Tov TTIOKEQPTET yIa va el 2 DIOQOPETIKA {wa. Aev BEAel va
gekivnoel e 1o AlovTdpl. Nooeg dIGPOPETIKES TTEPINYATEIG UTTOPET va OXEBIAOEL,

(A)3 (B)7 (©8 (D)9 (E)12

21. Four brothers have eaten 11 cookies in total. Each of them has eaten at least one
cookie and no two of them have eaten the same number of cookies.

Three of them have eaten 9 cookies in total and one of them has eaten exactly 3
cookies. How many cookies have been eaten by the boy who has eaten the largest
number of cookies?

Téooepa adépia £xouv @ael 11 umokdTa cuvoAikd. KdBe éva atrd autd £xel @Acl
TOUAGXIOTOV £va UTTIOKOTO Kal OU0 atrd autd &gv €xouv @del Tov idio apiBuoé ummokoTwy. Tpia
atTd aUTA £XoUV PAEl 9 CUVOAIKA UTTIOKOTA Kal €va attd auTd £xel @Agl akpIBwe 3 PTTIoKOTA.
Méoa pumokéTa £Xouv Qaywoei atrd To ayopl TTou £XEl PAEl TO JEYAAUTEPO apPIOUO
MTTIOKOTWV;

(A3 B4 ©)s5 D6 (B)7

22. Zosia has hidden a smiley @ in some of the cells of the table. In some of the
other cells she writes the number of smileys in the neighbouring cells as shown in the
picture. Two cells are said to be neighbouring if they share a common side or a
common corner. How many smileys has she hidden?

H Zosia éxel Kpupuéva autokOAANTa @ o€ KATTOIO TETPAYWVA TOU TTiVaKA. 2€ YEPIKG aTTO
Ta GAAQ TETPAYWVA YPAPEI TOV APIOPO TwV AUTOKOAANTWY TTOU UTTAPYXOUV OTA YEITOVIKG
TETPAYWVA, OTTWG QaiveETal OTNV €IKOVA. AUO TETPAYWVA AEyovTal YEITOVIKA £QV €XOUV HIO
KoIvA TTAeUpd A pIa KoIv ywvia. Néca autoKOAANTa €XEl KPUPPEVA N ZosSia;

3 3
2
2
1
(A)4  (B)S (7 (D)8 (E) 11



23. Ten bags each contain a different number of candies from 1 to 10. Five boys each
took two bags of candies. Alex got 5 candies. Bob got 7 candies, Charles got 9, and
Dennis got 15. Eric took the last two bags. How many candies did Eric get?

AEKO OOKOUAEG TTEPIEXOUV N KOBEWIG BIaPOPETIKO apIiBud atrd kapauéAeg atmo 1o 1 €wg 10 10.
Mévte aydpia TAPav o kKaBévag dUo 0akoUAEG KapauéAes. O Alex Tpe 5 kapauéAeg, o Bob
TpPE 7 kapapéAeg, o Charles 1mpe 9 kai 0 Dennis 1Ape 15. O Eric Tmpe Tig dU0 TeAEUTaiES
OOKOUAEG.

Méoeg kapauéheg Tmpe o Eric;

(A9  (B)11 (C)13 ()17  (E)19

24. Kate has 4 flowers, one with 6 petals, one with 7 petals, one with 8 petals and one
with 11 petals. Kate tears off one petal from three flowers. She does this several
times, choosing any three flowers each time. She stops when she can no longer tear
one petal from three flowers. What is the smallest number of petals which can
remain?

H Kartepiva £xel 4 AouhoUdia, éva pe 6 TTETaAa, Eva pe 7 TTETaAQ, éva Pe 8 TTETaAO Kal €val JE
11 métala. H Kartepiva agaipei Eva TTETalo atrd Tpia AouAoudia. To KAvel auTtd apKETEG
QOPEG, TTIAEyoVTaG TUXaia Tpia AOUAOUDIO KGBE Qopd. ZTapatd Otav dev PTTOPE TTAEOV va
agaipéoel éva TTETAAO atrd Tpia AouAoudia. Molog gival 0 PIKPOTEPOG APIBUOG TWV TTETAAWV
TTOU UTTOPEI va EUEIVE OTO TEAOG;

AR

(A1 (B)2 ©3 (D)4 (E)5
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